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( Intermediate Macroeconomics—II )

( Honours Core )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer any ten from the following as
directed : 1x10=10

were frarcare R el 7= Fe TR S fi -

fa) Mention one assumption of Harrod-
Domar growth meodel.

@I'T-T IR fagrr =Ry @b wfSyRen Sy
34 |

(b) Name one neo-classical growth model.

- [ enfE «br 1w forn |
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(c)

(@

(e)

(9)

(h)

(i

22A/1120

(2)

What is meant by technological
progress?

eRfeere Tafe T 5 o 2

Define average propensity to consume.
ST (ST 2o e i |

Who introduced the life-cycle
hypothesis?

G5 SHFCHT (FICT BT (e ?
Mention one assumption of permanent
income hypothesis.

TR SR S GO SSqE SeEY 41 |

Rational expectation model is related to
Robert Hall/Friedman.

( Choose the correct answer )

Ifeare e SfEce Rb 25/ FerEeR #re
QG |

(w5 Teco! AR Sfepea )

What is investment?

R &2

What is liquidity preference?
SEen AfS [ 2
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(3)

(i) What is meant by fiscal policy?

TR A Fferce & o 2

(k) What is Ricardian equivalence?

fRfes ey f 2

() What is meant by active monetary
policy?

ey gu Mecy &6 @m 2

(m) Who are the classicists?

FHRr R @ 1 ?

(n) Did Keynes believe in full employment
equilibrium?

o o et SreTrere [Rart e 2

(0) Name one new Keynesian economist.

T 7 (@20 NYATT T =

2. Answer any five from the following
questions : 2x5=10

Seq PRSI GG oo Sed fir

(@) What is the golden rule?
e o 2
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(b)

(c)

(d)

{ @0

What is meant by endogenous growth?

g et e ¢ gom 2

Mention two  differences between
Harrod-Domar model and Solow model.

@EIC-TR Wi wWF vF oS qEq 5o
A1 T 41 |

Why marginal propensity to consume
cannot be greater than one?

dqifte (o el 9 9Fee @R’ 29
GTRTGE 2

(e) What is random walk of consumption
expenditure?
Co1%) IRF AoRS C41e < 2

(f/ Mention two monetary policy targets.
a1 TSR 701 o ey 41 |

(g) Mention two differences between
classical and Keynesian thoughts.
HES F @R SRR A 51 =12
ey 91 |

(h) Mention two features of classical
macroeconomic thought.
IS SRt SRARE o1 e Sae 4 |
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(S)

3. Answer any four from the following
questions : 5x4=20

o HERA R @ vifRee Tes fran

(@) What are the two effects of investment
according to Harrod-Domar model?
Explain.

@I R =i SN f[fcmnsE 1o gew
&2 T <41 |

(b) Explain Keynes’ psychological law of
consumption.

@253 (O TEIfGe ©geo! I I |

(c) Explain the elements of endogenous
growth.

el MR SAmEPTE 10 4 |

(d) What are the limitations of Harrod-
Domar model? Explain.

EAT-TF Y FuRmertz & 2
ezl

fe) Explain the concept of inventory

investment.

T RFESE GRe 0 4 |
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(6)

(f/ Explain the time consistency problem of
monetary policy.

T ST T->TNePE FPO! F 0 |

(g) Distinguish between external and
internal government debt.

IR TF TASFAT 5D A AT LG
Ay %1 |

(h) Explain the main features of new
classical macroeconomic thought.

T EPre SuEam SRYEE gE afErTR
T A1

4. Answer any four from the following
questions : 10x4=40

o @RI @I sifKeR Ses fr

(a) Critically discuss the Solow model of
economic growth.

el e v’ wRE seEm sem
eS|

(b) Discuss Fisher’s theory of optimal inter-
temporal choice.

o I SRS e wwhr e
0
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(7)

(c) Discuss the Keynesian consumption

function.
FE5A (19 FEC0] A6 F4T |

(d) Critically discuss the life-cycle
hypothesis.
GRA-5G SICOT ST FRIICT ST
Ell

(e) Is permanent income hypothesis an
improvement over life-cycle hypothesis?
Discuss.

S 2 SCES 41 |

() Discuss the determinants of business
fixed investment.

3o & R etz s <4 |

{g) What are the motives of demand for
money according to Keynes? Discuss.

@FEP o WH SRR SfererR R e
ST 41 |

fh) Discuss the objectives of monetary
policy.

T4 ST STIPTHR b 9 |
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(8)

(i) Discuss the main features of Keynesian
thought.

(S0 SRYMAE To (AFEPTR SCEb 341 |

(i Discuss the key elements of the new
Keynesian fixed price model of macro-
economic equilibrium.

WEIM SRTWeR a9 @Ton F N
DR To SRR SCA0A 1 |
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